
Free Questions for 4A0-108 by certsinside

Shared by Fields on 22-07-2024

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1
Question Type: MultipleChoice

Click the exhibit.

Based on the output displayed, which of the following is TRUE?



Options: 
A- This router is a PE attached to the multicast source of group 239.1.1.1.

B- Router 1.1.1.1 is a PE attached to the multicast source of group 239.1.1.1.

C- Router 192.168.1.2 is a PE attached to the multicast source of group 239.1.1.1.

D- Router 192.168.1.2 is a PE attached to a receiver interested in group 239.1.1.1.

Answer: 
B

Question 2
Question Type: MultipleChoice

In Draft Rosen, a PE router encapsulates customer multicast packets into provider packets. What is the destination IP address of the

provider packets sent on the I-PMSI?

Options: 



A- The destination group address of the customer packets.

B- The multicast group address configured for the I-PMSI

C- The system IP address of the receiving PE

D- A multicast group address selected from the range of addresses specified in the I-PMSI configuration.

Answer: 
B

Question 3
Question Type: MultipleChoice

Which protocol is used to establish the S-PMSI in Draft Rosen?

Options: 
A- PIM DM

B- PIM SSM

C- PIM ASM



D- Either PIM SSM or PIM ASM

Answer: 
B

Question 4
Question Type: MultipleChoice

What is the DATA_DELAY_INTERVAL?

Options: 
A- It is the delay before the source PE switches traffic from the I-PMSI to the S-PMSI.

B- It is the delay before the source PE sends MDT Join TLVs.

C- It is the delay before the source PE switches traffic from the S-PMSI to the I-PMSI when traffic rate drops below the threshold.

D- It is the delay before the receiver PE prunes the S-PMSI.

Answer: 



A

Question 5
Question Type: MultipleChoice

Which of the following about the default MDT in Draft Rosen is TRUE?

Options: 
A- It is also known as the I-PMSI. Each MVPN has only one I-PMSI.

B- It is also known as the S-PMSI. Each MVPN has only one S-PMSI.

C- It is also known as the I-PMSI. Each MVPN may have multiple I-PMSIs.

D- It is also known as the S-PMSI. Each MVPN may have multiple S-PMSIs.

Answer: 
A

Question 6



Question Type: MultipleChoice

Which of the following conditions triggers the S-PMSI construction in Draft Rosen?

Options: 
A- If multicast data exceeds the threshold set on the ingress PE, the S-PMSI is constructed.

B- If multicast data exceeds the threshold set on the egress PE, the S-PMSI is constructed.

C- If the number of interested receivers exceeds the threshold set on the egress PE, the S-PMSI is constructed.

D- If the number of interested receivers exceeds the threshold set on the ingress PE, the S-PMSI is constructed.

Answer: 
A
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